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(Misteading Advertising) U peapall | e

Part One. Reading

A« Comprehension:

Lo The text is mweb anlcle

2 True o fahe statements; a b T T A

Lo Amwering questions:
A (1 i not say) it had sliced s bread much thinner than its competitons.
I The celebrity nses the product ind miy even depend on it for hisMer/their

MWCECAN
¢ No, it does not, Jintification: Consumiern mistakenly think that eating

light food means eating healthful food.
4.Cohevive markers:

Mty (§1) —»  brand of bread
b) them (§2) = advertisers
¢)which (§3) ~» labelling food as light

B Text Exploration:
1. Definitions: a) slice  b) impliclt  ¢) believe

2. Morphology:

 Prefic | Root Suffix
mis Tead ing
(i entire ly
T differ ent

e e i

Y, Asking questions:
a) What do advertisers use different strategies for? O
Wiy do advertisers use dilferent strategies?
by) What does one marketing strategy involve?
4. Re-ordering Sentences:
le-2n-3.d-4b (0.5 for opening sentence and 0,4 for each correct link)

Ifart two: Written expression

Criterin Relevance | Semantic Correct | Excellence | Final score y‘,
caherence tse of (vocab+
— English | creativity)
ST A, I 7
Gy 1 | 2 | 5 i

2311&1.0



\ ' N A '
_ ,'-':‘ lJlIL.L b ') ageed ﬁl?“ﬂukf'l‘(; lﬂ' LAJJ*;‘;,)J.."p bl Iy Ju-u‘."- ."N, thl

14ty
LN UL
bl

1.5

0.3

07 pta
1.5

1.5

ro

0Spts

1.4

05}

0.3

05«1

053

0.5+4

- ——

(Space Exploration) i gpdpati dayi e
Patons Reading
A Comprehension
{ Tove or Valse
o Tree  boFale e Tioe o Tiee

4 Anwering questions

a. No/ No, [t s not

b The benefits of space exploration mentioned in the text are sclentific knawledie.

Inspiration and the expanshon of our frontier( establishing a human presence 00

ather watldy )

¢ We have many prodems hece on Parth (climate change, hunget. averpopulation
and undendevelopment) Or we have got enouph iallenges here at home ‘.“"
Farth) Or Fanth peoblems thauld take priority over exploring undlor extablishing
a human presence on other wotld

1 Cohesive markers:

a4t (81 = the sheer cost / the coud

b 11 (§ 21+ space explorstion

¢. these (§4)-+challenges (climate chunge, hunget,
underdevelopment)

4. Title:

b The Costs and Depelits of Space Exploration.

1V Text exploration

overpopulation and

I Lexis:
n send (§2)
b innumerable (§3)
¢. prionty (§4)

2 Marphology: opporites keeplng the same rool
Irrelevant - unfnir - inhuman
§ Comblning pain of sentences!
a Despite being costly, space explortion has many benelits,
Or Despite its (high) cost, space exploration has many benefits,
b 1f scientists develop space technology, they will/may be able 1o explore othet

planets.
4 Gap filling:
I, hitting 2. happen 3, extinction 4, Threal
Mart two ¢ Written expression
" Criterin Relevance | Semantic | Correctuse | Excellence( Final scote
coherance | of English | vocab &
_crealivity)
Common | ] 2 ] 5
stream
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